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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

4-

5.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.
1) inevitable 2) intangible 3) unforeseeable 4) unsentimental
I don’t really think I’d have the ---------- to finish a marathon!
1) concern 2) candor 3) endurance 4) autonomy
Her marriage started to improve once her husband finally ---------- he had an anger
problem and began to take counseling,
1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function,
1) proceeds 2) requires 3) fascinates 4) conveys
Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.
1) refuge 2) remedy 3) paradox 4) vacillation
I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.
1) genuine 2) definitive 3) secretive 4) artificial
The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.
1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.
1) stabilized 2) hampered 3) diversified 4) verified
Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.
1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we
currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs



Y i 425K OYYY 05) 590900085

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) --—---—--—- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
0 the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language 1s a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) ---------- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4) in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

Watersheds are the basic unit of Earth’s land-surface system and are characterized by
complex natural-human interactions. Numerical modeling is one of the fundamental
methodologies used to study watershed-scale Earth systems. Countless numerical
models have been proposed to simulate different elements within a watershed. A
watershed i1s a complex system which is composed of a water resource system, an
ecosystem, and a socioeconomic system. However, most numerical models belong to
the category of single-disciplinary models and conventionally simulate natural and
human processes separately by taking the other as an exogenous variable. They are
unable to model the dynamic relationship between the natural and socioeconomic
dimensions of a watershed. Moreover, numerical models, typically designed for
specific purposes or domains, can rarely be applied to an entire watershed that has
distinct natural and human characteristics over different sections. Watershed system
models are essential if we are to support integrated river basin management. Earth
System Models (ESMs) are essential tools for understanding large-scale environmental
changes and interactions within and among all relevant aspects of the Earth system.
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16-

17-

18-

19-

20-

ESMs have gained remarkable advances and continue to move forward. A watershed
1s actually a basin-scale Earth system, and therefore, watershed system models can
learn greatly from ESMs. Meanwhile, watershed system models can offer some
advantages over ESMs. Nevertheless, there are many challenges for the development
of a watershed system model. First, the natural and human system models differ
significantly in describing the spatial relationships of the modeling units, and they
typically have quite ditferent spatiotemporal resolutions. The ecohydrological model
usually describes the study domain in a distributed manner, while the socioeconomic
model describes i1t in a lumped approach. Furthermore, the integration of various
components of the human and natural system models potentially increases the
computational burden considerably. Hence, watershed system models typically require
extreme computer processing and storage capacity, which constrains their
incorporation into Decision Support Systems (DSSs). Second, the development of a
watershed system model is essentially a transdisciplinary issue that can be
accomplished only through a strong collaboration among many researchers in diverse
scientific communities by taking advantage of the state-of-the-art advances in
ecohydrology, hydro-economy, eco-economy, and water resource €Conomics.

What is the main purpose of this passage?

1) To explain about watershed system models

2) To explain about Decision Support Systems (DSSs)

3) To explain about the transdisciplinary nature of watershed systems

4) To explain about watersheds as the basic unit of Earth’s land-surface system

According to the passage, all the following statements about numerical models are true

EXCEPT ---------- ;

1) Several numerical models have been proposed to simulate various elements within a
watershed

2) Numerical models are capable of modelling the dynamic link between the
dimensions of a watershed

3) The utilization of numerical models is a fundamental methodology to investigate
watershed-scale Earth systems

4) Most of the numerical models belong to the category of single-disciplinary models

The passage probably continues with a sentence about ---------- .

1) watershed as a basin-scale Earth system

2) complex natural-human interactions in watershed systems

3) Earth System Models (ESMs)

4) another challenge for developing a watershed system model

The word ‘exogenous’ in the passage (underlined) is closest in meaning to ---------- 3
1) composite 2) mediator 3) external 4) intervening
The word ‘they’ in the passage (underlined) refers to ---------- ‘

1) challenges 2) relationships 3) units 4) models
PASSAGE 2:

Large tidal rivers present a challenging spatiotemporal gradient of abiotic filters on
wetland plant community assembly which must be understood for effective
conservation. They also present a challenge for the management of their multiple uses
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21-

22-

23-

including shipping, industrial development, agriculture, and human habitation. River
floodplains have complex processes and spatial patterns of interconnected flora, fauna,
and flow regimes along environmental gradients both longitudinal and lateral to the
mainstem river channel. In low-elevation areas near coasts, tides and salinity make the
hydrological controls on river—floodplain ecosystems complex; besides, variations in
river discharge, coastal upwelling and downwelling, and hydropower operations all
affect water surface clevations. While estuarine wetlands have been extensively
studied, landscape-scale studies of the wetland complexes of major coastal rivers
spanning the estuarine-to-tidal freshwater wetland gradient from river mouth to the
head of tide are scarce. A more universally applicable and comprehensive approach to
understanding the physical drivers on plant community distribution and potential
migration in major tidal rivers is needed to frame the successive thresholds of changes
in major abiotic filters between the river mouth and the head of tide relative to plant
tolerances. Tidal rivers and the tidal freshwater wetlands upstream of estuaries have
long been subject to intensive human activities. In many regions of Africa, Asia, and
Europe, impacts on tidal rivers and estuaries have intensified in recent centuries as the
effects of agricultural and industrial developments interact with effects of upstream
river regulation on hydrodynamics, sedimentary processes, and water temperatures.
Direct land reclamation also reduces the areal extent of floodplain ecosystems, and
tidal wetlands are very sensitive to water surface elevation and sediment deposition.
Thus, their survival and migration during an era of marine transgression with
increasing rates of sea-level rise depends on complex correlation with geomorphology,
plant establishment, and growth. In recent decades, the intrinsic values of tidal
freshwater wetlands have been recognized and initiatives for their conservation and
restoration have been made.

According to the passage, all the following statements are true EXCEPT ---------- :

1) In low-elevation areas near coasts, tides and salinity make the hydrological controls
on river—floodplain ecosystems complex.

2) Landscape-scale studies of the wetland complexes of coastal rivers spanning the
estuarine-to-tidal freshwater wetland gradient are numerous.

3) Direct land reclamation reduces the areal extent of floodplain ecosystems, and tidal
wetlands are sensitive to water surface elevation and sediment deposition.

4) Tidal rivers and the tidal freshwater wetlands upstream of estuaries have long been
subject to intensive human activities.

What is the main purpose of this passage?

1) To explain about environmental gradients

2) To explain about hydropower operations

3) To explain about tidal rivers and tidal freshwater wetlands

4) To explain about physical drivers on plant community distribution

The passage probably continues with a sentence about ---------- .

1) initiatives for the conservation and restoration of tidal freshwater wetlands

2) thresholds of changes in major abiotic filters between the river mouth and the head
of tide

3) shipping, industrial development, agriculture, and human habitation

4) effects of upstream river regulation on hydrodynamics, sedimentary processes, and
water temperatures
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24- The word ‘establishment’ in the passage (underlined) is closest in meaning to ---------- A
1) refutation 2) obliteration 3) inauguration 4) demolition
25- The word ‘their’ in the passage (underlined) refers to ---------- .

26-

27-

1) agricultural and industrial developments
2) water temperatures

3) floodplain ecosystems

4) tidal wetlands

PASSAGE 3:

Understanding and quantifying the mechanisms through which water moves through
plants in the natural environment remains a central question in ecohydrology.
Physiologically based plant models, which are used to quantify soil uptake and
transpiration, typically model water fluxes through the soil-plant-atmosphere
continuum. However, models for vascular epiphytes, which do not root in the soil,
have not yet been developed or integrated into plant models. Accurately quantifying
the water fluxes through epiphytes would greatly improve our understanding of their
role in rainforests, arid ecosystems, and the larger global water cycle. Epiphytes, by
definition, grow nonparasitically on other plants, living on trunks and branches of trees
in the canopy. In contrast to plants that live in the soil, epiphytes obtain water and
nutrients directly from the precipitation, air, and debris in their surrounding
environment. In rainforest ecosystems, vascular epiphytes are locally abundant and
highly diverse, and they fill important ecological niches, where they optimize space
availability and often inhabit drier micro-areas within the canopy. Due to their drought
tolerance and water use efficiency, epiphytes live in arid and semiarid ecosystems.
They can also affect the microclimate by buffering temperature fluctuations and
reducing the daytime vapour pressure deficit. The most relevant abiotic constraint for
the growth and vegetative function of epiphytes is water shortage. Epiphytes can
obtain water from rain, dew, water vapour in the atmosphere, and stem runoff from
their host. Epiphyte tanks are water-impounding storage containers on the surface of
the plants between the stem and the leaves that help to compensate for access to soil
moisture. The water balance of the tank depends on the tank capacity, the catchment
area of the plant and aspects of the plant geometry that influence evaporation.

According to the passage, all the following statements are true EXCEPT ---------- ;
1) Models for vascular epiphytes have long been developed and integrated into plant
models

2) Epiphytes grow nonparasitically on other plants, living on trunks and branches of
trees in the canopy

3) Epiphytes obtain water and nutrients directly from the precipitation, air, and debris
in their surrounding environment

4) Physiologically based plant models typically model water fluxes through the soil-
plant-atmosphere continuum

What is the main purpose of this passage?

1) To explain about epiphytes 2) To explain about water fluxes

3) To explain about ecohydrology 4) To explain about ecosystems
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28- The word ‘abundant’ in the passage (underlined) is closest in meaning to ---------- .
1) obvious 2) tedious 3) copious 4) various
29- The word ‘deficit’ in the passage (underlined) is closest in meaning to ---------- A
1) speed 2) surplus 3) sufficiency 4) scantiness
30- The word ‘their’ in the passage (underlined) refers to ---------- ;
1) micro-areas 2) epiphytes
3) rainforest ecosystems 4) ecological niches
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